GRAMMAR REVIEW — UNIT 8 - CONDITIONALS

A. Fill in the gaps in the following sentences with suitable prepositions, or adverbials, if necessary:

1. Someone’s been snooping my apartment.

2. 'The marketing campaign brought over €6 million in sales. EARN

3. After five years, he decided to jack it all

4. 'The blame for the disaster has been laid firmly the government’s door.
5. Extensive tests have been carried on the patients.

6. There has been a 10% rise sales.

B. Put the verbs and other words in brackets into their correct forms, add prepositions, particles or anxiliary verbs
if necessary. You may need to use the passive forms of the verbs. Do not change the V'ERBS into any other parts

of speech.
1. Many US pension funds (prevent / invest)

emerging-market equities and speculating in currency markets by recent legislation.

2. However all the hard work paid dividends as we

(be delighted / learn) that we (succeed / award) a
Green Flag.

3. Some pensioners' groups (expect / object)
the adverts on the grounds that they may (cause) undue distress.

C. Finish each of the following sentences in such a way that it means the same as the sentence printed above it:
1. I’'m sorry I didn’t invite him to the party.
I wish I him to the party.

2. Why weren’t you watching the road?
You should the road.

3. I regret saying that to her.
If only I that to her.

4. You shouldn’t have hit him.
I wish him.

5. Idon’t want you to tell her.
I’d rather tell her.

6. Idon’tlike it when Megan stays out so late.
I wish out so late.

7. T'm really sorry we can’t come to your wedding.
If only we to your wedding.

8. Iregret that I didn’t work harder for my exams.



9.

I should for my exams.

I persuaded someone to lend me some money, so I got home.
If 1 someone to lend me some money,
I don’t know how 1 home.

10. The company is making a lot of money, because it carried out the restructuring

programme last year.
If the company the restructuring programme last year,
it a lot of money.

D. Choose the words or phrases which best complete each sentence. The number of corvect answers is 1-3,

1.

I really wish I speak another language.

A can B could

C was able to D am able to speak to

I wish you so quickly. I can’t understand a word you’re saying.
A hadn’t spoken B didn’t speak

C wouldn’t speak D wasnt speaking

If I a more reliable car, 1 to Spain rather than fly.
A have ...... will drive B had .... would have driven

C had ... would drive D have had .... would drive

If he a chance of success, he to move to London.
A will have .... would need B will have ... will need

C were to have ... will need D were to have ...would need






